]

I
y 112 of Technology, Kurukshetra

b tite
National ISt C (TPC 205
Subject- OB 1 Orjepye . ing using Java ourse Code- " " S
" ot _““‘.'.:'i ented Programming i MM: 20, Duratjop. 50 _mml‘llc
e . A (5
AU v
1)) ,\\lli rogram on the below quCSllUns WH]‘I explanations plc that

What is constructor chaining in#2va? Hlustratc your answer with a code €Xa™
demonstrates both this() and sUp=r() in action.
What is race condition in |m|ltlt_1._l-cadmg ?

. Program: Demonstrate using wrinper classes with ArrayList. Outpyt: List: (10, 20,
- 30

". Use a base class reference to hoi(! a derived class object and call an overridden
-~ Method,
class Parent i .

void show! " !
System -"-m_println(..p

} +

aremt class show metht d.");

class Child € ends pyrory {
void show: , |
Systen:

]
)

.::I.Pl'inlln(uChim class show mc"m.j.u);

!

public class 'nafnicMcthodLoukupEx.-amplc i
public stz void main(String[} args) ¢ l

— -] PalEm oY) —shew Tnliggr———— s T
obj.show(); K
h
i -
v. Explain Thread transition.
2) WritcaJava program that implements: ' ' 3)

O A base class Shape with a method arca(). -

O/ A derived class Circle that overrides the area() method.

© | An interface Drawable with a method draw().

© ' Implement Drawable in the Circle class.

o 1 Show the usc of polymorphism by using a Shape reference to refer to a Circle object
and call its methods

3) _Discuss the role of interfaces in Java. What are the differences between an interface.and an
abstract class? Provide an example of an interface and a class implementing it, highlighting
how polymorphism is achicved. (5)

4) Creat®aprogram with a shared resource (¢.g., a counter). Implement synchronization to
ensure that two threads increment this counter safely. Include a mechanism to demonstrate the

result ‘.’..fl_hread interference without synchronization and the correct resulg with
S)"ﬂchmmmlion_ (s)



